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1. Solve the initial-value problem " -4y’ +4y =(12x> —6x)e™, y(0)=1, y'(0)=0 by
variation of parameters. (25%)

2. Use the Laplace transform to solve the initial-value problem:

d’x + dx N dy 0
arr  dr dr 0)=1, x'(0)=0
aFd A e o {x( )=1 ¥0)=0 (25%)
d*y dy  dx y(0)=-1, »'(0)=5
—t+——4—=0
dat© dt dt
. . . . 5 -4 -5
3. Find the matrix X to satisfy the equation X* —5X + 6l = g 10/ (25%)

4. Verify Stokes’ theorem 4‘}CF -dr = ﬂ (curlF)-ndS for the vector field F=5yi—5xj+3k,
s

and for S being the portion of the plane z =1 within the cylinder x*+3y*=4. Assume S
is oriented upward. (25%)
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